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Notes
(@

M1: Calculates one of the elements of the leading diagonal of AB, condone sign slips

Al: Sets diagonal = 3k + ¢ and deduces the correct value for c. Award for sight of 3k + 1

(b)

M1: Attempts to solve 3k +"1" =0 or attempts the determinant, condone sign slips in the minors,

and sets = 0 leading to a value for k

Alft: Correct value or follow through their value for c so allow for k = —%

(©)

B1ft: Deduces the correct inverse matrix. Follow through their ¢ so allow for !

3k+c

B or if found

determinant

(d)

M1: Complete method to find the values of x, y and z using their inverse matrix

their det




Al: At least one correct coordinate simplified or unsimplified.

Al: All coordinates correct and simplified. Condone as a column vector. Does not need to be
written as a coordinate.
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